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Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.

1. Mark the correct answer (any ten) : 1x10

(a) “The hill has fire because the hill has smoke™— In this inference, the vipaksa is—

(1) Kitchen (i) Lake
(iii) Cowshed (iv) Sacrificial altar.
(b) A loci in which the probandum (Sadhya) is known for certain is called
(1) paksa (i) sapaksa
(i) vipaksa (iv) pratipaksa.
(¢) The number of properties responsible for the validity of a valid armvava-vyvatireki hetu is —
(i) two (ii) three
(iii) four (iv) five,

(d) Paksa is that locus where the presence of sadhyva is

(i) certain (i) uncertain or doubtful
(i) not there (iv) None of these

(e) Which form of reasoning is primarily used in a legal process?
(i) Inductive reasoning (i) Deductive reasoning

(iii) Both forms of reasoning (iv) None of these.
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(f) The operative relation which is responsible in the perception of soundness by the auditory sepg,
organ is
(i) samyoga (i) samavaya
(iii) samyukta samavaya (iv) samaveta samavaya.

(¢) “Fruit is good, good is the goal of human life, therefore fruit is the goal of human life.”—Which
fallacy is committed in this invalid argument?

(i) fallacy of equivocation (i) fallacy of accent
(iii) fallacy of amphiboly (iv) fallacy of composition.

(h) When it is accepted that a proposition is true on the ground that it has not been proved false, then
the fallacy committed is

(i) appeal to pity (ii) appeal to force
(iii) appeal to argument from ignorance (iv) a peal to inappropriate authority.
gn p
(i) I infer that a new pair of shoes will fit well on the grounds that I got good fit from shoes
previously purchased from the same store”.— The argument used here is
(i) deductive argument (i) induction by simple enumeration
(iii) argument by analogy (iv) layman’s argument devoid of logical reasoning.
G) ‘All biped animals are rational, birds are biped animals, therefore, birds are rational>— What fallacy
(hetvabhasa) is committed in this inferences?
(i) viruddha (i) badhita
(iii) satpratipaksa | (iv) savyabhicara
(k) The distinction between the sufficient condition and the necessary condition is of value
(i) -only in logic (i) only in determining legal responsibility
(iii) both in logic and in law (iv) neither in logic nor in law.
() It is possible to show the probability of judgement in legal affairs—
(i) as numerical ratio or fraction (i) as a value of probability favoured evidence

(iii) as decimal value like -16 or *75 etc (iv) none of these.

2. Answer in brief (any five) : 5x5
(a) How many types of hetvabhasas are admitted in Nyaya Philosophy? Write down the names of the
hetvabhasas.

(b) What is the primary objective of logical reasoning? Discuss in brief.
(c) Distinguish between act of commission and act of omission.
(d) Distinguish between satpratipaksa and badhita hetvabhasa with examples.

(e) Explain any two fallacies falling under fallacy of relevance with suitable examples.



MURALIDHAR GIRLS' COLLEGE
LIBRARY

(5) (" X(3rd Smv.)-Phitosophy-1/SEC-A-1/CRCS )

() Explain the difference between argument by good analogy and bad analogy with cxample.

(2) Discuss the role of probability in the context of legal reasoning,
(h) What is meant by ‘explanation®? When docs an explanation become ‘unscientific’?
3. Answer any fhree questions from the following :

(a) Why arc ordinary operative relations called ‘ordinary’? Explain different types of ordinary operative
relations with examples. 2+13

(b) Determine the fallacies of the following arguments and give appropriate explanation in each case :
573
(i) The boy blindly belicves everyone. So the boy is blind.
(i) Each part of the machine is light. So the machine is light.
(i)  All Bengalees like to travel, Ramen babu is a Bengalee, So he likes to travel.

(c) How many criteria are commonly used in judging the worth or acceptability of a hypothesis and
what are they? Discuss in detail. 3+12

(d) What is the role of causation in legal reasoning? Distinguish between sufficient and necessary
condition for any event from logical point of view. Why does Copi hold that this distinction play
a critical role in determining legal responsibility? Discuss. 54248

(e) Discuss with examples different types of savyabhicara hetvahasa. 15




